
ΛΥΣΗ 

Έχουμε: |α⃗⃗ | =  
√3

2
  (1) , |β⃗ | = 

1

2
 (2) και |3α⃗⃗  + 2β⃗ | = |α⃗⃗  - 2β⃗ |(3). 

α) Από την (3) ⇔ |3α⃗⃗  + 2β⃗ |2 = |α⃗⃗  - 2β⃗ |2 ⇔ (3α⃗⃗  + 2β⃗ )2 = (α⃗⃗  - 2β⃗ )2 ⇔  

9α⃗⃗ 2 + 12α⃗⃗ ∙β⃗  + 4β⃗ 2 = α⃗⃗ 2 - 4α⃗⃗ ∙β⃗  + 4β⃗ 2 ⇔ 16α⃗⃗ ∙β⃗  = -8α⃗⃗ 2 ⇔ α⃗⃗ ∙β⃗  = - 
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 |α⃗⃗ |2.  

Η τελευταία σχέση, λόγω της (1) δίνει: α⃗⃗ ∙β⃗  = - 
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β) Επίσης: συν(α⃗⃗ , β⃗ ̂) = 
α⃗⃗ ∙β⃗⃗  

|α⃗⃗ |∙|β⃗⃗ |
 . 

Η τελευταία ισότητα λόγω του ερωτήματος (α) και των (1), (2) δίνει: 

συν(α⃗⃗ , β⃗ ̂) = 
− 

3

8
 

√3

2
 ∙ 

1

2

 = - 
3∙4

8∙√3
 =  - 

3

2∙√3
 = - 

√3

2
 , άρα (α⃗⃗ , β⃗ ̂) = 

5π

6
 ή 1500. 

 


